Composite Functions |

~
REVISE THIS
TOPIC

1 f(x)=3x+4 g(x) = x + 10 h(x) = X2 @

(@) Work out fg(x)
Give your answer in the form ax + b where a and b are integers

{900y = 2(x+10) ¥l
- 3Ax +30 +4

= 1+ 34

fg(x) = g‘L ¥ :SL"

(b) Work out gf(x)
Give your answer in the form ax + b where a and b are integers

() = 2 +4 +1O
SS' = Lx+l4

sor- o + \Ur

(@) Work out gh(x)

ah(x) - x 4+ 10

s+ 1O

(Total for Question 1 is 5 marks)
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2 f()=x—3 9 =X+ 1 h(x) = 10x @

(@) Work out fg(x)
Fully simplify your answer.

() = X7+ | -3
£3 . )_

_

wo= X — 2

(b) Work out hg(x)
Fully simplify your answer.

hO(x)- [0(x%+ 1)
105c% +10

hg(x) = \01} n \O

(c) Work out gh(x)
Fully simplify your answer.

eh (1) = (\OL)L +
= (00x" +\

gh(x)='OO LL‘\‘ \

(Total for Question 2 is 6 marks)

2

www.1stclassmaths.com © 1stclassmaths



http://www.1stclassmaths.com/

° . r@ @1stclassmaths

3 f00=7 9(x) = 4x— 8 h(x) = V= @

(@) Work out fg(x)
Fully simplify your answer.

(x)= (-
5o -

= 1x-1

fg(x) = Q—x - &

(b) Work out gf(x)
Fully simplify your answer.

g6 = 4(F) - 8
= x-9

sw=_ L— ¥

(c) Work out hf(x)
Fully simplify your answer.

h{() = E

= Ix
\ \x

—_—

hf(x) = 2

(Total for Question 3 is 6 marks)

3

www.1stclassmaths.com © 1stclassmaths



http://www.1stclassmaths.com/

° . r@ @1stclassmaths
4 f(x)=x-5 g(x) = x2+ 30

(@) Work out fg(x)

Fully simplify your answer.

fg(x)= X" +20 -5

X+ 1S

I

(b) Work out fg(3)

6(1) = x*+ 26
ig(?ﬁ - 3%t+1s

= 9+ 1S

= X~ + 2AS
)

(c) Work out gf(x)

)
Give your answer in the form ax? + bx + ¢ where a, b and c are integers.

gft)

N}

(x-s)* +30
(>e-s)x-5) + 20

(!

Wl

1*-Sx-Sx+ 15 + 20
X*-(0x + SS

dw-_ %o —10x. + 55
)
4

(Total for Question 4 is 7 marks)
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5 f(x)=2x+1 9x) =V T3 @

(a) Work out g(13)

8(@\: JB+3
= {16

1)
(b) Work out fg(13)

Ta(3) = ()
= 2(9) +\

(c) Work out gf(16)

QCE [Zxe1+3 af08) =J200+u"
= {6

:J21+4

6

(2)
(Total for Question 5 is 4 marks)
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6 f()=x+2 ) = %3 h(x) = V= @

(@) Work out gf(3)

3\3(30\ = (1*1\2
= (3+ 2

125

)
(b) Work out gh(x)
Give your answer in the form xk where k is a fraction.

ghx= (=),
= (x /L)

= 13/7'
oh) = X

(c) Work out gf(x)
Give your answer in the form ax® + bx2 + cx +d where a, b, c and d are integers.

(x) < (x+1 .)3
() = (x+2 x+2) (1 +)
= (L2 D+ ) (x+2)
= (0 +lx +A)xa2)
= 13 + W ot +8x 1Lt

3 7
| o= L 0% +12x +R
ﬂ (Total for Question 6 is 7 mar@)
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7 f(x) = 2X

gXx)=1-x h(X) =2 +X @
(a) Work out gf(-3)

3&(1\2 |- 1" 75 L

_2 1>
5‘;(‘3\2 \- 0 \-’|§
]
)
hg(x) —gh(x) =k  where Kk is an integer.
(b) Find the value of k. hﬂ(«x/); 24(1-1) 3\;\(1\): \-(2+x)
= ¥\ - = |-1-X
= 3-x = -1 X

o () ~ghx) = (3-x) - (-1-x)
= 2-L4l+x L\_

(4)
fh(x) .
(c) Show that W =2ax+b where a and b are integers.

%\n(&\;f“‘ fale) ~ 2™
fa) 277

faea= 27

(\

o
7_)

2+ \
L

(3)
(Total for Question 7 is 9 marks)
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